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Solving Linear Trigonometric equations

To solve a trigonometric equation means to find the angle
value(s) that satisfy the given equation.

recall: solving linear equations
Solve for x:

2X+3=4x-5

“2x =%

=z -2
% =4

Apr 19-9:13 PM

Solving Linear Trigonometric equations W Y/
2l |

To solve a trigonometric equation means to find the angle
value(s) that satisfy the given equation.

Steps:
(13 the equation should involve only one trigonometric ratio
@ isolate the trigonometric ratio
@- solve for the related acute angle (using positive ratio)

@ use the actual sign of the ratio to determine the quadrant(s)
for your answer [CAST]

@ determine the angles, within your chosen quadrants,
using the related acute angle
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Ex: 1) Solve each equation for 0° < 9 < 360°.
sing=2 O @7 @ selwe for eon
« G
Smb = —
2 & d
° I
B=4¢C o \35°
k Raf =4s°
® oy ® use QAST
Vs
- T\C
b) cosd = _7

6= [0 & 29p°
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c) sin@++/3 =—sin@ '
A
25m® =-\[z :
|
swmB = ~ E A8 =6

=240 ® e < IA +$M+

S
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d) Stand =2tan@ +7

34aa 0 = F
tan 9 = 3‘ — he evadt vawa.
=LY or 2468 RAR = 4+ -'(5

ﬂ&a bb ?
3&!&'
*
-
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e) cos(29)=§ 2 r
2
Lt ol=20 A

2 I
S

ol=%¢" or OL=%sp°

bad oL=28

8 ﬂe
=1+
26=3¢ o 2§=3%°
B8=5' & Peys

Hoare ore some. compliadhony
-”M'bm 0.‘8 £ 360
fr 2 O’<Z§ s3
2" ond 38 ok sababy 0°¢28 670"

_-gc.u; 690
. 20=31" R 20= (30
0= 145" p=345"

L= 8" @ IbS" @ 125" o 3S®
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f) 3sin26+3=35
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Assigned Work:

p.408 # 1ace, 2adf, 5ab, 14agi
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. 408
£50) |4 smr=fsinne  RPA=s2(L)

| = 3 = 9.5

S'u\x.="§ %@ S
c HE

%=AS" or bd.S°
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l(d) {-{-Smx t1=0
V2 smn == |

Sen % =——L
z

x=21S" s 2(5°

=5-(4)

ﬁ| Ak =4S"

%

S& T =8 e Pis®
= S-S R0 ’ @—' ‘&‘N
=*

2@ \{?&Dz +| =0 £
2 on =-| | Pa=fs”

x=035" oe 215°
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fv) 29&(0.52): ] RN'\:S;'\.'(%
Sin(05%) = 4
bA 4 =0.5= Z /=87 OAA = 2n®

2% 3 l:b'
0Sx=3%" o 0Sx=IS6
2= 6t x = 3650
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[4(g) 2eon(m) =
ea (22) =
Maaht
et

Zn=\5D" o 2x=210°

ok consdur exkepmunad ua(q

*=35" , o5, 255", 75¢°

-z
& /e
2

® aM =30

[
= lea® = ® 38
(a =lsp o2 y=2o %

BT < <ZRSS 0" < 20 ¢ 728

2x=(S0 £30° 2w = 2I0 +360°
2% =Clo’ 2= S0
A = 2”‘ r= z?g ©

A
c o
2\°
P e
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